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Mark Scheme

Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

June 2015

Annotation

Meaning

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

I

Accurate language

A B\ BB (] E e E XS

Inaccurate language

Abbreviations
/
()

Meaning

Alternative and acceptable answers for the same marking point

Words which are not essential to gain the mark

Underlined words must be included to gain the mark
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Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in
order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.
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Section A: Listening and Writing

Task 1: Listening — gu

Question Answer Marks Guidance
[12]
R
W) /s 1 Multi-choice
b/ 1 1 . . . R
This task is scanned in by the page. Marks are awarded individually. No
annotations are necessary.
c/al 3 1 y
di | ¥ 1
1
o) e/AU st
1
f/e9 §
1
g/°& W 1
his | W 1
ir2 oL
il u 1
k/S 5. 1
/@ 5 1
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Task 2: Listening — 20904{l Sl{etdcal UA

Mark Scheme

June 2015

Question Answer Marks Guidance
[13]
a/s uQll 1 Gap-fill
The elements are scanned by the page. No annotation is necessary.

b/ sl 1 b and c interchangeable

¢/l oASRAHS 1

du | Gk 1

el ﬁ%ﬂo{cn 1

/¢9 A3l ctoll 1

gl | Mol 1

h/2 (Quz 1

e | ud 1

i/6 YAl 1

ks | sRQ 1

e | = 1
m/QL SUcl 1
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Task 3: Listening —=Shopping — a pleasure or boredom

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.

o There is no need to use a cross (X) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

¢ You may also use the highlighter tool to show harmless additions.

¢ Answers in Gujarati get no marks.

Question Answer Marks Guidance
[15]
a At his Guijarati School 1
1
b Watch a football match
c Go shopping with his mother 1
1
d He was at work
. 1
e that she goes shopping on Sunday
f the vegetables would be stale / left overnight. ! Accept —fresh vegetables sold out on Saturday
g 0 his side ribs could be hurt by people’s elbows 1 Accept if stomach or area around ribs mentioned instead of ribs.
(ii) his face hurt by someone’s umbrella 1 Accept the three answers in any order
(iii) his legs could be knocked by someone’s trolly
1
h(i) that he could wait outside 1
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Question Answer Marks Guidance
[15]
h(ii) he did not want - to wait out in the bitter cold / another cold 1
[ 0] she goes round all the shops looking 1
(i) she would then think what everyone would like 1
(i) she would then go back to the shop which had the 1
most fresh vegetables
j 1

He sits in the tea shop sipping tea
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Task 4 10 marks for Communication (Grid H1), 10 marks for Quality of Language (QoL)
Task Specific Guidance

e The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to
assess the QoL.

e Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points
across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker
/ sympathetic examiner” and give credit accordingly.

e Annotations:
¢ Inthe body of text, use a tick (V') to show that a point has been fully and successfully conveyed.

e If an element of the point has been omitted, use the caret sign (A).

e If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

o The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.

e Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.
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Task 4. Communication points
Question Answer Marks Guidance
[10] | Accept | Do not
accept
1 e Last year when | came to see you
1
§ Al dHa Hol AN AR
e | had a good time in the village
. 1
Hol oUHHL wol 1ot usl &dl
) e | am looking forward to 1
§ Vol AR §
¢ helping you again in the mango farm.
dHal wioauSaumi g3l Hee sal R 1
e Will my aunt be able
3 1

9] HIRL 518l ol
to take me shopping in Jamnagar?

A HAIRHL WILEL scll A xS 2AsA?

10
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Question Answer Marks Guidance
[10] | Accept | Do not
accept
e My mother would like
4 1
HRL Hiclal ASA &
e some silk sarees from there. 1
Uil 2sls el uslA
5

May | also visit the villages

HER0ulloll 53la, & ounrsRAlell Yeusid Ae aug?

around Jamnagar, please?

o HotdRoell WRAULRLL

11
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Task 4
COMMUNICATION
GRID H.1 10 marks AO2
9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
3-4 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.

12
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Task 4
QoL: Read response again and assess for language.

e Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year
beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the
performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

CRIDE2 10 marks AOS3
9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.
7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. (_Benerally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.
5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct

use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival
3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common
nouns). Frequent first language interference.

13
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Section B: Reading and Writing

Task 5 a; dlgeldelR

Mark Scheme

June 2015

Question Marks Guidance
[10] 1 mark for each correct answer
Aclled AL ALSal oludl HudlR Usloll
ELWA This task is scanned in by the
v v page. The marks are awarded
individually. No annotations are
necessary. If the candidate has put
$ v more than 10 ticks add up the total
number of correct marks and
deduct 1 mark for each tick over
w
10.
v
a v v
u v v
A v
89
N1 v v

14
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Task 5b: dléel sl

Mark Scheme

June 2015

Question Answer Marks Guidance
[10]
als | BRAHELAS 1| Gapill o
The elements are scanned by the page. No annotation is necessary.
b/u Ul 1
col | ygl@ 1
il | cet 1
eld | [Ran 1
/9 uletedl 1
gl | R 1
h/% | awdln 1
ir2 olof cuget A 1
ils Y 1

15
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Task 6: ollajsisl Ul aulcwuq'

Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire
page will then appear on the screen for you to assess the QoL.

o Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Gothrough all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

. Annotations:
. Award 1, 0 or NR without annotation.

. Use atick (') to indicate a mark awarded on any question where the answer is more than one mark.

. Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

. Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

16
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Task 6: sllojslsl el 2UlEvld
NOTE: SIGNIFICANT AMENDMENT TO THIS TASK WILL REQUIRE THE RE-WRITING OF PART OF THE MARKSCHEME

Question Answer Marks Guidance
[20]
a/s ASAR 1
/W A WdRUHL ALl ot AL 1
col | olsdl, ndl, Qa 1
da | Q) axal tRe(l woll uR Aasdl 1
() Ula {2 65 well audl 1
e/ A UL Ylat Astcl. 1
Al A dAHl AH2A %A 1

17
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Task 6 cont...
Question Answer Marks Guidance
[20]
£/¢9 el 1
g | AR dUR 2w A 1
. 1
. AR £ wcllaj dlA
h/ Qs 2 0-1 0 mark
1-3 1mark
4 2 marks
ul
dlR
AU RL
i/e slle] stsl AsASYL 2Uet WU / $El QAYS ol
$cll. 1
Boll 2UlA slad dal A2 Al utetdll.
1
KI& | ¥ ollofsist txrell o dlell? Bullcll cll
1
/s sllofsisial AL Ulal clletierll.
1

18
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Question Answer Marks Guidance
[20]
/3 .. . o L
AUSUL URAML $1RY2RA dAlaclHL el &l
.. . . 1
/8l | (i)aHa ollaf &5 wlasd ol &d.
(i)aoll W ollost sioll el ot ol 1
1
(i) A gg AUcll Acll &cll.

19
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Task 6 cont..

Mark Scheme June 2015

e Assessing Quality of Language

a.

b.
C.

You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the green L
marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.

Apply Grid C.2 and enter the mark.

When candidates have left several questions unanswered, click on “fit height” to have an overall view.

e If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band

e If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

QUALITY OF LANGUAGE - ACCURACY
CIRIL G2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common
nouns). Frequent first language interference.

20
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Task 7: 3.3. 41 Q&

Task specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the
candidates’ work will appear on the screen. You will have three successive screens 8a, 8b and then 8a + 8b again, but without the annotations in
order to assess QoL.

Task 7a Comprehension. Grid | [10 marks]

a. Annotations:
¢ Inthe body of text, use a green tick ¥ to show that a point from the mark scheme below has been fully and successfully conveyed.

e If an element of the point has been omitted, use the caret sign (A).

¢ If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
The annotations will give a global impression to help you apply Grid | accurately and consistently.
b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid |. Enter your mark.

c. Copying/ lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the
entire answer is lifted (see Grid 1). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool to show lifted
language. Only phrases of 5 words or more should be counted as lifted language.

21
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Task 7 cont... 3.5.41 Rew

Mark Scheme

June 2015

Question Indicative content Marks Guidance
NOTE SOME AMENDMENTS REQUIRED TO [10] Content Levels of Response
THE INDICIATIVE CONTENT DUE TO
SLIGHT CHANGES IN TEXT
Grid |
COMPREHENSION OF TEXT
1 Ao A Y. 3.of Qe w2 B. 9-10 . .
Consistently relevant information.
Includes nearly all the points from
, Qlatsl ua otnsl ARl A caudslzk 2 B the original passage. Shows a very
23 e Hold 52 B clear understanding of the text
7-8
. Relevant information showing
3 818 (QauellQ ol (Qenellz @ eletd(Rl understanding of up to two thirds
DR of the points from the original
passage. There may be one or
two instances of lifting from the
4 AU Alslot 53l MidLsls 52 B original passage.
5-6
Some relevant information
showing understanding of up to
half of the points. There may be
instances of lifting from the
5 Qas Qatlell QaMddel sty AN B, original passage. J
wUYs (AQaeflpA Ul vt AslwR W B. 3.4
Little relevant information.
6 Includes up to athird of the points,

@Q&tsl opaoudl acuiatot QeandlAa seccl
Hdald 52 .

showing understanding of some of
the points. Over-reliance on
phrases lifted from the original
passage.

22
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Question Indicative content Marks Guidance

NOTE SOME AMENDMENTS REQUIRED TO [10] Content Levels of Response
THE INDICIATIVE CONTENT DUE TO
SLIGHT CHANGES IN TEXT

7 Qeasl [Qenellott dotHotoll dgacdl QA 2w 0-2 _ _
No relevant information or
R supplies one or two relevant
points from the original passage.
8 wl QaneRAa YaoteR siH wa 8.
9 (R2WAA YRl atiall otefl Mol

0 Rauol dau woud 8.

1 Aol (QeneflA sl A [Faualal el da
HA 8.

HAQ AR Aol dlnsla 13 el
o HlsAcl 8l .

13 AR Yl @Qeuneg Qe Q1 wa
8.

14 B st Al B Axiell [Qauellxl AU ot
Wl A3 B / 585 ololl A3 B.

15 wietall Rewati A wouscoll 32 otell.

23
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Task 7(b) Response Grid J [20 marks]

Mark Scheme

June 2015

Question

Answer

Marks

Guidance

[20]

Content

Levels of Response

No Indicative Content — personal response

Grid J: Looking at the annotations,
assess the quality of the response to the
text and apply Grid J. NB: “imagination”
and “insight” are interpreted
conservatively. The number of ticks you
have awarded will indicate a mark band.
You must then use your professional
judgement to fine tune your marking. You
may look at the quality of the candidate's
points and go down a mark or two if they
seem rather pedestrian or repetitive.
Similarly an attempt at originality or
humour could gain an extra mark or two.
Enter your mark.

o Use the green tick (v') in the body
of the text to show each opinion /
personal response and a green tick

(¥ +) in body of text to show a
development / extension of the opinion.
NB: one opinion may have several
extensions.

GRID J
RESPONSE TO TEXT

16-20

Responds with well developed
points of view which show insight,
originality and imagination.

12-15

Expresses points of view which are
consistently developed and respond
to the requirements of the task.
Shows some originality and/or
imagination

8-11

Expresses points of view which
respond to the requirements of the
task. Some of these may be
developed and there may be some
originality and/or imagination.

4-7

Manages the beginning of a
response to the requirements of the
task. May have difficulty in
expressing and/or developing
points.

0-3

Very short. May not go beyond
points of view already expressed in
the original text.

24
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Task 8(a) + 8(b) — Language (QoL) — Grids C.2 and F.2: [20 marks]

Mark Scheme June 2015

Question

Answer

Marks

Guidance

Task 8a+b

Assess for Quality of Language using Grids

C2 and F2
Appendix 1

[20]

a. Read the whole response again and assess for Range (Grid F2) first —i.e.
vocabulary and structures. Then assess for Accuracy (Grid C2). Key words
have been highlighted in the grids below. Ignore final sentence of 3-4 band in
Grid C2, because vocabulary and structures have already been assessed
under Grid F2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

b. Ignore language lifted from the text when assessing language (See Task 8a
above). Lifted language is not credited for QoL — only content points and/or
personal response.

25
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APPENDIX 1
QUALITY OF LANGUAGE - ACCURACY QUALITY OF LANGUAGE (RANGE)
GRIDC2 | 10 marks AO3 GRIDF-2 | 10 marks AO3
Characterised by a high and consistent level of . : :
9-10 accuracy in use of complex structures, although there 9-10 Effective and confident use of a wide range of vocabulary
may be some errors. and idiom with a variety of complex sentence structures.
Language generally accurate. Shows a sound grasp of Effective use of a range of vocabulary and structures
AS (and/or A2) structures, as appropriate. Generally appropriate to the task, with little repetition. A positive
7-8 correct use of complex structures. Tenses and 7-8 attempt to introduce variety and to use a range of
agreements good, although there may be some complex sentence structures (though not always able to
inconsistency and errors in more complex areas. maintain correct usage).
Shows evidence of fair understandlr_]g of grammatical Attempts to extend the range of vocabulary, though still
usage. Generally accurate use of simple sentence .
rather repetitive. Attempts to use more complex language
5-6 structures. Some correct use of complex sentence 5-6 ) ) :
structures. The performance is likely to be patchy and with some success in prodycmg a range of syntax and
inconsistent. sentence structures appropriate to the task.
Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.
3.4 common nouns, adjectival agreements) but evidence of 3.4 Frequent repetition of the same words and phrases. Some
correct use of simple sentence structures. attempt (not necessarily successful) at the use of more
(Vocabulary and structures may be quite strongly complex sentence structures.
influenced by the candidate’s first language).
Little evidence of grammatical awareness. Persistent,
0-2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited vocabulary.
gender of common nouns). Frequent first language Very limited range of structures.
interference.
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F883 Mark Scheme
APPENDIX 2

Transcripts of Listening Texts

Note for Document production team: This section of the mark scheme must stay in Portrait
format until after the standardisation meeting.

Uclle 1 el [1R 9JQ(]
gt — oAl WslR] iUy BidL

Gotlaell cactacdl (R gumi ASL 6s18all HAUA scttellal 2Roidoll @dncl HEN ¥ gston gumi
YUl Beq €8l YSlal oll® (Rad Aol 12l slottcflal YA wacl Gsndl gumi cly oAl uoll?
aalldl 3 Ul gua yol Gslollal Wil 531 wRgl Wl guof eglMil 3uidR sal ugl Auiedl cetdl vial
5 cdrll Yol arcdla RRUej As Asfa g 8. viRisell Uy wadl sl A Rciuetl o o
818 6 ¥ £ ot Adll 8l &l, B gt UA ot dlal Aol clcd el B. wys RAARN AMell Ycllat-
YadlAlatl ([Aats YA Wi 3UR el oleld-[rdicly] GslAg gu Ulalle] AN B, Al oltl o UZHIAlA
aRM RH WRUcHi A B, QAR Be@ Hictotl Ustell A L otall Aolua Mol 52 B,

[117 words — 1m 10 sec]

Al R: sLall [43 210 ]
2090¢{l slHetAcu HMA

20206(l SlHolAce 1A ARctatl UlzololR (BeglHl aDoeuml wcll sl (Eedll 2% Uotlr L UAM
Wals U ocll. (BedlHl el AL MidRAELA stlsHHL 4L Well 2L stlsH sdl. UAA
daul ama aell HtalA elRdHl Yrell dal Awe QAo Wil wa wlsloll stsll Ll
olfd (A wHRWR Wl el uRL AUl gl2u Botl curl sal A yiRets(l QRA etrdell
RUANHAA R ug] Yuldl €ly. el Aol atsiAHSs (QURNA ool . %) 3 WE Rl S2Cls
ASlA URL AL ¥ AMoll Ealal Al RUAIM Aol WA Jcfl A uRasl. declsal A UGl ad A Wl
AURAML AU2ASL clRall U Al Al AR AR &d. AN A 581, UQL GURAHL L HA UL Ul
lloll ASHL cAlAUH sRclloll Aol U Al Hclletl A ducdl oA B.

[120 words — 1 minute 10 sec]

27
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F883 Mark Scheme
Task 3: Listening [15 marks]

Shopping — a pleasure or a bore?

ARlatr AcRell oAl RaunHiell sHet ddRell As cAdl AR el R Aol HB{A 2R 2R
el daur gval ocl. wHA w8l ueellell W Ve el @l vied usl A Aol Hielldl
geellc sclolo{l N Alalle] atet Accdl &l AL Al AQ H{lofl HRELR ot el

“sUA, WY dly 8l dl Beue dauR U ot B AR HIZL WA WILEL scl dlcalls] & sIREL S IRl
uudl iR oL B

“HRAL 8R sHAoU Wlotoll HEA §55SGRA $cll gl Al “URl  wuul U wUadsA gslal %E
WAR ol ol % Rl £5latelA AAc? el g5tall vecll AW B

“sl, £5loll Al yecll Slat & URl dixl seu AR o AW st uedl AAa? et cudl s How”
w1l Agsel.

“uRl HiHl w1 gslatHl Al ASl s ¥ SlSe{l SO0l 1Rl usuwiHl, SleSoll 9ol 1Rl AdRA UR ¥ S5l
2Ll HIRL UDLHL cllRll coR oi(@ 3. ULl gMlal Al HIR % Uset $clloll a?”

“AH ALl Wl esletl ot eldlel. d dlR olelR Qlell @% Aol § WIEAL AHlot dal audl el

“UR eLelloll” sHA HotMl % (A, 6% Al M3l A€l His Ml 8. wcll 5555l SSIHL Hal vlalR
Glell AWl H{lA §85 AN o187 wseuoll WIlEl A sl scsHl U ot uRl il udal vl
£5LallMl 523, ugl QAR ¥ wial 9 elad, U A dd B gstotHl Wl Ay oA @l g3l %A wa
Ul BRlel 53 W@ AUEF A sCls UN. GUA Wl - HAAL(l EURA Y$l 6 Al %32 o dlA
Al Feclal AlHet GASL AA Al Ul MR A ol AHLet aUSl Yl Gl ovcltall. Ae@ o Al 1l
wIlEl sl sl Aecll atrk v watntell gstal Rl a0 Ylat Al st 8.

[277 words — 2mins 40 sec.]
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